Luminant Questions Concerning Nodal Reliability Performance Metrics
1. How we are supposed to maintain compliance when the real time telemetry and block raise and block lower telemetry points aren't used to portray the current conditions on a unit?
Discussed at 5/4/2010 meeting.  UDP is going up, and Raise Block status is “on”, UDP will stop.  UDP is 4 second ramp over 4 minuts to next SCED Base Point.    

2. Where will ERCOT obtain the Average Estimated Governor Response (AEGR)? We thought ERCOT was going to request 2 additional data points to determine the AEGR, but those points still have not been requested. 
ERCOT is implementing a RARF Addendum to collect the needed Frequency Response data, then carry out a RARF update later.  

3. Concerning A/S capability compliance, if a QSE has a derate or forced outage on a unit that is carrying a/s, are we not in compliance if a unit condition forced a non-compliance?  In zonal, SCE has exemptions for this, but this metric does not.  
The specific entity that will conduct Compliance measurement for Nodal has not been determined.  Once named, that organization will be the best to answer how entities can request exemptions not listed in the Protocols.  Also, the Protocol Revision process allows MPs to correct/change Protocol language found to lack needed information or clarity.   
4. Can the market participants depend on ERCOT real time reports to monitor compliance?  The protocols state that ERCOT has to provide the 5 min a/s capability metrics for each market participants in the MIS area- how is this going to work. 
ERCOT intends to provide all reports required by Protocols in a reliable fashion.   

5. Protocol section 8.1.1.1 (6) excludes unit testing from Generation Resource Base-Point Deviation Charge but there is no similar exemption from GREDP calculations.

Resources that have a telemetered resource status of “on test” are not considered “released to SCED”.  Therefore 5 minute periods for which that status is telemetered are not included in the GREDP reporting.

6. Protocol Section 8.1.1.2.(2)   ERCOT VDI tests for unit maximum HSL

a. How will GREDP be calculated?

b. Will ERCOT continue to send UDBP and BP for a unit on VDI and maximum unit test?

c. If the unit RST = 8 ON Test, what will SCED send? Resources that have a telemetered resource status of “on test” are not considered “released to SCED
MMS-Security Constrained Economic Dispatch and Real-Time MMS Processes Requirements (B2)v4.0 (9/30/2009)

http://nodal.ercot.com/docs/pd/mms/pd/sced-rt-mms-rs/mms_sced_and_rt_mms_processes_req_09q1_v4_0%20%28blackline%29.doc 
3.3.28 Resource with ONTEST Status 

	Requirement ID
	FR45-1

	Source Mapping (Protocol/NERC/FERC and other binding documents Ref #)
	6.4.5 (2 a); 6.5.7.8(1); 3.9.1(4 b i H); 3.9.1(8)

	Traceability to Sub-Process Maps
	SCED

	Description:
SCED shall not re-dispatch Resources with “ONTEST” telemetered Resource status. The Base Point of Resources with “ONTEST” status shall be set to their telemetered MW value.


d. What unit LMP will be sent during the test period?  The RTLMP will be sent with the Per-Generation Resource Data Sent to QSE.  Same as above.  
7. Protocol section 8.1.1.2 (4) “The QSE may also demonstrate value of HSL by operating the Generation Resource at an Output Schedule for at least 30 minutes.” 

Note:  NPRR234 is provided to QMWG for consideration/comments

a. How does the QSE submit a schedule that is at HSL for 30 minutes?  QSE will telemeter “ONTEST” and SCED will set their Base Point to their telemetered output.  Same as above.    
b. At what level and when does the schedule start in order to reach HSL?  Starting SCED value unknown at the time of submittal.

Once the QSE receives the VDI, they will be give certain duration (as stated in the protocol) based on their current output to reach the HSL, once they reach the HSL they will have to sustain the output for 30 minutes. They will have to change the unit status to “Ontest” and that should take care of the SCED.

c. Does the schedule also take the unit back down to some SCED level?  What level?  
Once the test is completed the VDI will end and QSE can take their unit still in “Ontest” status to the level where they can carry necessary ancillary service obligations. Once they reach that level they can change the unit status so that units gets deployed by SCED.
8. Protocol Section 8.1.1.2.1.1.(4)(b)  “For the 60 minute duration of the test, when market and reliability conditions allow, the ERCOT Control Area Operator shall send a random sequence of increasing ramp, hold, and decreasing ramp control signals to the QSE for a specific Resource.  ERCOT shall maintain a duration interval, for each increasing ramp, hold, or decreasing ramp sequence, of no less than two minutes.”  
a. Since regulation deployment is at the QSE level, how will ERCOT send individual unit regulation values in real time?   Is the unit test regulation the only QSE regulation allowed during this 60 minute duration? 
RQT would be used for this testing and the test regulation signals would not be sent using the QSE level REGU/REGD telemetry points.  This should allow the QSE to provide regulation with qualified resources even when a resource within the portfolio is being qualified.  
b. Or will this test be done entirely with changes to the unit BP and UDBP? 
c. If regulation ramps are VDI, how will the verbal ramp get incorporated into the set point sent to the unit? 
d. Will each Generation Resource require a 60 minute test duration or will several units be tested in the same 60 minute duration? 
ERCOT is developing AS Testing Procedures based on Protocol Section 8.  Those procedures are not approved, and gaps identified through Protocol traceability and internal review are being addressed.  At this time it is not expected that the QSE will only be allowed to regulate with a unit(s) undergoing testing.  Specific instructions on how to conduct AS testing will be provided once ERCOT Procedures are finalized.  This question will be included for consideration during the procedure review.   
9. Protocol Section 8.1.1.2.1.1.(4)(c)  “During at least one five minute duration interval selected to evaluate each of the Reg-Up and Reg-Down amounts being tested, the Generation/Controllable Load Resource Energy Deployment Performance (GREDP/CLREDP) calculated in accordance with Section 8.1.1.4.1, Regulation Service and Generation Resource/Controllable Load Resource Energy Deployment Performance, over the entire five minute interval must be less than or equal to 3.5%.“   
a. How will unit GREDP be calculated if unit test regulation not part of the QSE regulation value?

b. How was the 3.5% metric determined since it doesn’t appear in the normal unit performance metrics?

Is this perceived discrepancy between testing and performance criteria intentional? 

ERCOT is developing AS Testing Procedures based on Protocol Section 8.  The data to be captured and used to calculate test performance will be specified in those procedures.  ERCOT will identify techniques and data collection to be carried out to satisfy the grading criteria described for Regulation Testing in Protocol Secion 8.1.1.2.1.1(c).  This question will be included for consideration during the procedure review.
10.  Protocol Section 8.1.1.2.1.2.(2)  “Each Resource providing RRS must be On-Line and capable of ramping the Resource’s Ancillary Service Resources Responsibility for RRS within ten minutes of the notice to deploy RRS”
Protocol Section 8.1.1.2.1.2.(8)(b) “ERCOT shall send a signal to the Resource’s QSE to deploy a Responsive Reserve, indicating the MW amount.  ERCOT shall monitor the QSEs telemetry of the Resource’s Ancillary Service Schedule for an update within 15 seconds.” 
a. How was the metric for RRRC 15 seconds update time determined?  Other protocol performance requirements do not support the test requirement?  Section 8.1.1.2.1.2.(2) says update within 10 minutes.

b. The minimum time it takes for ICCP from ERCOT and back with an AGC run at the QSE exceeds 15 seconds, so this metric will be failed 100% of the time.

c. To deploy QSE level RRS 100% to a specific Generation Resource will require manual allocation entries as part of the test.  This has to be done as part of the ERCOT notification and not after the fact of the QSE level RRS deployment.

Is this perceived discrepancy between testing and performance criteria intentional?  It is within approved Protocol language and QMWG is asking ERCOT to defend how it was determined.

ERCOT is developing AS Testing Procedures based on Protocol Section 8.  This question will be included for consideration during the AS Testing procedure review.  All protocol sections were vetted through the Stakeholder and Board Approval process.  Revisions to the Protocols are allowed to update, clarify or change the approved market rules through the same stakeholder processes.  
11.  Protocol Section 8.1.1.2.1.3.(6) (b) “For Generation Resources: during the test window, ERCOT shall send a message to the QSE representing a Generation Resources to deploy Non-Spin.  ERCOT shall monitor the adjustment of the Generation Resource’s Non-Spin Ancillary Service Schedule within five minutes for Resources On-Line.”
Protocol Section 8.1.1.4.3. (3) “Control performance during periods in which ERCOT has deployed Non-Spin shall be based on the requirements below and failure to meet any one of these requirements shall be reported to TRE as non-compliance:
(a)
Within 20 minutes following a deployment instruction, the QSE must update the telemetered Ancillary Service Schedule for Non-Spin for Generation Resources and Load Resources to reflect the deployment amount.”

a. How was the metric for NSRC 5 minute update time in 8.1.1.2.1.3. (6)(b) determined?  Other protocol performance requirements do not support the test requirement? Section 8.1.1.4.3. (3) says update within 20 minutes.

Is this perceived discrepancy between testing and performance criteria intentional?  It is within approved Protocol language and QMWG is asking ERCOT to defend how it was determined.   

ERCOT is developing AS Testing Procedures based on Protocol Section 8.  This question will be included for consideration during the AS Testing procedure review.  All protocol sections were vetted through the Stakeholder and Board Approval process.  Revisions to the Protocols are allowed to update, clarify or change the approved market rules through the same stakeholder processes.  
12.  Protocol Section 8.1.1.3.(1)  “ERCOT shall provide each QSE representing Resources a capacity summary containing as a minimum the same general information required in Section 6.5.7.5, Ancillary Services Capacity Monitor, except specific to only the QSE.  The summary shall be updated with calculations every ten seconds by ERCOT and then provided to the QSE every five minutes using the MIS Certified Area.”

a. How many 10 second samples in the 5 minute summary are required for ERCOT to mark the QSE Ancillary Services as insufficient?

The summary report only takes a snapshot of the telemetry every 5 minutes.

b. If only one reading, the last 10 second reading before posting, is insufficient, does the QSE get marked down as not providing sufficient AS capacity?

c. Does the 10 minute window to correct start when the file is placed in the MIS Certified Area?

d. Does the QSE receive any other notification other than the MIS area? 

Requested input from Jimmy Hartmann—Refered to Dave Maggio.
13.  Protocol Section 8.1.1.3.(2)  “If the comparison indicates the QSE is not providing sufficient capacity to meet its Ancillary Services responsibility, ERCOT shall notify the QSE via the MIS Certified Area.”
a. If the AS capacity is corrected as a normal part of the QSE updating process in less than 10 minutes, does the QSE have to call ERCOT?
The protocols state “or” so a call should not be required.
b. Are all 5 minute reports that show insufficient capacity sent to TRE or just those that are not corrected within 10 minutes?
The TRE will like be able access the MIS postings, however ERCOT should only be making formal complaints those not corrected within the 10 minutes.
c. The order of sequence in any updating process, whether automated or manual, will have short periods of time when the sum of total AS capacity will be less than 100%.

d. How will the top of the hour changes in AS capacity be handled for AS Monitoring? 

i. Does the QSE have to revise the AS responsibilities at 1-5 minutes prior to the top of the hour for the next SCED run?  How will the AS Monitor determine whether the QSE AS capacity is insufficient during that crossover period.
Telemetered responsibilities, schedules, and resource status will all have to be changed immediately prior to the SCED running in order for everything to be accounted for correctly for SCED dispatch. 
ii. Assuming that the AS Capacity is revised at the top of the hour and not before, the AS Capacity will be out of sync with the SCED Base Points for the first interval each hour.  How will the AS Monitor calculate AS capacity insufficiency until the next SCED run if the BP is above HASL or below LASL?

Requested input from Jimmy Hartmann.

14. Protocol Section 8.1.1.3.(3)  “The QSE, within ten minutes of receiving the insufficient capacity notification from ERCOT, the QSE must:
(b)   Must provide both appropriate justification for not satisfying their Ancillary Service Obligation and a plan to correct the shortfall that is acceptable with the ERCOT operator.  ERCOT shall report non-compliance of Ancillary Service capacity requirements to the Texas Regional Entity (TRE) for review within 24 hours.”
a. Are all 5 minute reports that show insufficient capacity sent to the TRE, just those that are not corrected within 10 minutes, or just those not resolved to ERCOT’s satisfaction?
The five minute reports will be posted.  The TRE will like be able access the MIS postings, however ERCOT should only be making formal complaints for those not corrected within the 10 minutes.
b. If the insufficient AS capacity is resolved, is the contact still required?

c. What forms of communication will be acceptable for providing justification back to ERCOT?   Telephone calls? Email?  Fax? 

d. How long does the QSE have to resolve the AS capacity deficiency?

15. Protocol Section 8.1.1.3.1  “ERCOT shall continuously monitor the capacity of each Resource to provide Reg-Up and Reg-Down.  When determining this available capacity, ERCOT shall consider for each Resource with REG status, the actual generation or Load, the Ancillary Service Schedule for Reg-Up and Reg-Down, the HSL, the LSL, ramp rates, any other commitments of Ancillary Service capacity.”
a. How does LFC consider units with RBST and LBST set to True in deploying regulation to a QSE?

b. Are the QSE’s total ramp rates up and down for regulation decreased for Units with RBST and LBST set to True?

c. How does the AS Capacity Monitor treat units with RBST and LBST set to true?

d. How long can a unit with AS responsibilities stay on RBST or LBST set to True before AS Capacity Monitor will mark QSE as deficient in AS Capacity?

i. If the QSE is marked deficient when the 5 minute AS Summary report is filed in MIS, how long will the QSE have to get the unit off of RBST or LBST that will be acceptable to ERCOT’s operator?

e. Does the ERCOT Resource Limit Calculator consider RBST and LBST?

16. Protocol Section 8.1.1.3.2  
a. How are ramp rates considered during ERCOT’s monitoring of RRS responsibility?

b. Does the ERCOT Resource Limit Calculator reduce ramp rates available for SCED due to RRS responsibility assigned to a unit?

17. Protocol Section 8.1.1.4.1.  “ERCOT shall limit the deployment of Regulation Service of each QSE for each LFC cycle equal to 125% of the total amount of Regulation Service in the ERCOT System divided by the number of control cycles in five minutes.”
a. 125% * ERCOT Regulation * 15 LFC cycles per minute = 25% * ERCOT Total Regulation per minute                      75 LFC cycles in 5 minutes

b. If ERCOT actually deployed a QSE at this rate, it would probably be during an emergency condition when the GREDP metric says that the QSE cannot fail more than three five minute intervals during the EEA.  This rate of deployment far exceeds AS ramp rate capability and the QSE cannot pass GREDP if so deployed.

c. When does ERCOT intend to exercise the right to deploy at this rate?

d. Will the QSE be exempted from GREDP and Unit Deviation charges when ERCOT exercises this Protocol section?

18.  Protocol Section 8.1.1.4.1 (2)  GREDP
a. TRE compliance Training said GREDP greater than 5% for 3 hours in one day will be considered a violation and reported.

i. Is this one 5 minute interval in an hour for three separate hours, or

ii. The sum of 12 five minute intervals in an hour on three separate occasions, or

iii. The sum of 36 five minute intervals over various hours in the day?

b. How is ERCOT going to calculate the integrated value of regulation deployed in the GREDP calculation?
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19.   Protocol 6.5.7.6.2.2.(9)   How will ERCOT back out RRS?

a. When the ERCOT reduces the QSE RRS deployment and the RRS schedule is restored, the Generation Units will be deficient in AS Capacity until SCED backs the units down under HASL.

i. Will the QSE be deficient in AS Capacity during this time?

20.  Section 8.1.1.3 (1)
a. When can we begin to expect Ancillary Services Capacity Monitor (report ID: 11025) data?  RTM Market Trials Handbook shows that it was scheduled to be delivered in Phase 3.0 Reporting Outputs (pg. 11 – 13).  It was not highlighted in yellow, indicating de-scoping.  MIS gives a ‘No reports found’ message when I try to access it in the compliance reports section.  

b. Is this only available as a GetReport?
Only available as a Get Report. Listed with the known RTM defects and will be made available late in MT5.
21. Section 8.1.1.3 (2)  

a. In what Market Trials (MT) phase will the Monthly Summary of Ancillary Service Supply Responsibility Failure (report ID: 10044) be available?  Is this only available as a GetReport? Only available as a getreport - not being made available for MTs.
b. In what MT phase will the will the Monthly Summary of Resource AS Supply Insufficiency (report ID: 10051) at 1430 be available? Is this only available as a GetReport? Only available as a getreport - not being made available for MTs.
c. Is the Responsive Reserve Performance Report (report ID 11027), slated for phase MT 5 release, only available as a GetReport?
Only available as a getreport - being made available late for MTs.
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